GOOD TIMES INFANT SCHOOL KAWAALA
SET Il REVISION WORK 2020

MATHEMATICS PRIMARY THREE
SECTION A

Stream

Add: 2 4 Draw a set symbol for an
+ | 2 empty set.
Fill in the missing number. Given that :
+ 5 =8
How many members are
in set N2
Subtract: 4 5 6 Shade: 3
-2 45 4

Write in figures:

“Nine hundred thirty four”.

Find the missing numbers
240, 241, 242,




9. | Draw a triangle 10. | Show 342 on the abacus.
H T O
3 4 2

11 |Shade PNQ 12.| How many days make a
week?

P Q
13.|Add: 2 + 3 = 14.|Divide 16+ 2
6 6
15. | Draw a set of four pencils. | 16.| Tell the fime

It is




17.] Add: 3+ 0 18. | Write: 164 in words.

19. | Whatis the value of 3 tense | 20. | Expand . 23

SECTION B: (60 MARKS)

21. Given that :
M={0, 1, 2, 3, 4, 5}
N={ O, 2, 4, 6, 8}
(a) Show the information in the Venn diagram below
M N
(b) Find M N N.
(c) How many members are in set M?¢
(d) Which set has more members?
22 Fill in hundreds, tens, and ones.
345= hundreds tens ones
27 = hundreds tens ones
/769 = hundreds tens ones

3




24 = hundreds

tens

ones

23. Add(a) | + 2
8 8
(o) 4 + 2=
5 5
(c) L + 2+ 4=
/ / /
24, Match correctly

Intersection
Union set
Empty set
Equal set

Sub set
Equivalent set

Not equivalent set

-
W
U
-
-




Babirye is i2 years old .Amiina is i0 years old.

Who is younger?
(b) Who is older?
(c) Find their total number of years.
26 3 O 0 (b) | 8 9
+ % 0 + 4 0
(c) Subftract: 4 9
- 2 2
27.(a) | Add: Twelve plus four will equal to
(b) | Jane has 62 mangoes. She gave away 10 mangoes to

Sarah. How many mangoes did she remain withe




Write “empty” or not “empty”

(a) A set of books made of stones
(b) A set of parents with 2 children
(c) A set of men with horns
(d) A set of birds with two legs each__
(e) A set of boys breast feeding babies
29. Match correctly.
3+ | 2
2 - 2 6
8 =+ 4 o)
2 x 3 4
30 Study the graph below and answer the questions that

follow.

John Joan Opio Achen

Who has many bicyclese




(0)

()

31.

32.

Who got three bicycles?

How many bicycles did John get?

How many bicycles did all the pupils get altogethere

Mary has 42 goats. Jane has 35 goats. How many goats
do they have altogether?

Complete the table correctly.
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